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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
zhst — -~ - —| #hst -~ = — — Fhst — - ~ — —| #h st - ~ — — —
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
zhst — -~ - —| #hst -~ = — — FhLst — - ~ — —| #nLst - ~ — — —
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 237 31.73 | #nRSY | 000 ~ 237\ 2.60 1314 st 1.00 | .00 ~ 6.00 31.73 | #hLS | 5.00 ~ 6.00 | 2.60 13.14
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.02 75.47 | NS | 000 ~ 602| 1.84 928 st 1.00 | .00 ~ 7.00 75.47 | TS | .00 ~ 7.00| 1.84 9.28
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.64 83.84 | =St | 0.00 ~ 0.00| 1.73 878 st 1.00 | 6.00 ~ 8.00 83.84 | =hLS | 5,00 ~ 800\ 1.73 878
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.05 75.78 | NS | 0oo ~ 605 1.82 9.20 st 1.00 | .00 ~ 7.00 75.78 | *hLSY | .00 ~ 7.00| 1.82 9.20
- 100kN/mM##Bx5 | 1.00 | 0.00 ~ 201 131.02 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 10564 ~ 1824| 13102 |3m%E#Z5 - ~ — — —
s 1.00 | 201 ~ 9.79 100.00 | =nlst | 0.00 ~ 9.79 | 2.35 11.90 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 1824| 2.35 11.90
P 100kN/m%E#8Z5| 1.00 | 000 ~ 188 125890 |3mEEZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1732 12890 |3m%E#Bz% - ~ — — —
s 1.00 | 1.88 ~ 9.66 100.00 | =nhst | 0oo ~ 966 | 239 12.07 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 5.00 ~ 1732| 2.59 12.07
9 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 752 96.23 | #nRS | 000 ~ 7.52| 2.26 11.44 st 1.00 | 6.00 ~ 10.00 96.23 | =hLS | 5,00 ~ 10.00| 2.26 11.44
10 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.68 5835 | EnLRS | 0.00 ~ 4.68| 1.83 9.27 st 1.00 | 6.00 ~ 5.00 58.35 | =nLS | 5.00 ~ 6.00| 1.83 927
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

Ta|



